AWESOME ARITHMETIC!

Use your arithmetic, written methods and problem solving skills to answer
all of the questions. Make sure you turn over!

468 + 532 = 74 = 3 =
542 + =794 600 - 231 =
49 x 4 = Correct the mistake.

1.3,12,1.1,0.9, 0.8, 0.7

Draw an acute angle.
Remember to use a ruler.

Circle the fractions that are
equivalent (the same as) 3.

5 6 2
10 8 4 5

Now turn over for your problem solving and reasoning questions...




Q1. Megan likes honey, but not jam.

Alfie likes honey and jam.
Chen does not like honey or jam.

Donna only likes jam.

Write the children’s names in the correct parts of the sorting diagram.

likes honey does not
like honey
likes jam
does not
like jam

Q2. Annie had 36 sweets.

2
She ate 3 of them.

Ben had 40 sweets.

1
He ate E of them.

How many more sweets did Annie eat than Ben?

2 marks

Show
your
method

sweets

2 marks




